
 

 

 

Worksheet  for Subject- accounts               class-XII             Topic-Ratio Analysis 

1. From the following details calculate opening inventory and closing inventory 

Cost of revenue from operation  400000 

Gross profit     20% 

Stock turn over ratio   5 times 

Closing trade receivable are 1.5 times from opening trade receivable 

2. Calculate inventory turnover ratio from the following data 

Opening inventory  200000 

Closing inventory  100000 

Purchases  500000 

Carriage inward  50000 

Sales   1000000 

3. From the following information calculate inventory turnover ratio. 

Opening inventory  58000 

Purchases   484000 

Sales    640000 

Rate of gross profit  25% 

 

 

 
 

 


